
SAP ABAP table RJKIF_S_REF_ORDER_ADDITION {IS-M/SD: Variable Data for Reference Order}

RJKIF_S_REF_ORDER_ADDITION

GPAG [CHAR (10)]

WAERK [CUKY (5)]

KURST [CHAR (4)]

GPNR_RG [CHAR (10)]

GPNR_RE [CHAR (10)]

GPNR_WE [CHAR (10)]

GPVERM [CHAR (10)]

WERBTRAEG [CHAR (10)]

KONDA [CHAR (2)]

PERFK [CHAR (2)]

FKPER [CHAR (2)]

RCODE [CHAR (4)]

ZLSCH [CHAR (1)]

BEZUGGRD [CHAR (3)]

BANKS [CHAR (3)]

CCINS [CHAR (4)]

ISM_RCCVV [CHAR (4)]

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 RJKIF_S_REF_ORDER_ADDITION-GPAG = JGTGPNR-GPNR 

0..N

1

 RJKIF_S_REF_ORDER_ADDITION-GPNR_RE = JGTGPNR-GPNR 
0..N

1

 RJKIF_S_REF_ORDER_ADDITION-GPNR_RG = JGTGPNR-GPNR 
0..N

1

 RJKIF_S_REF_ORDER_ADDITION-GPNR_WE = JGTGPNR-GPNR 

0..N

1

 RJKIF_S_REF_ORDER_ADDITION-GPVERM = JGTGPNR-GPNR 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 RJKIF_S_REF_ORDER_ADDITION-BANKS = T005-LAND1 

0..N

0..N

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]
 RJKIF_S_REF_ORDER_ADDITION-ZLSCH = T042Z-ZLSCH 0..N

1

T188

MANDT [CLNT (3)]

KONDA [CHAR (2)]
 RJKIF_S_REF_ORDER_ADDITION-KONDA = T188-KONDA 0..N

1

TCCRC

MANDT [CLNT (3)]

RCATG [CHAR (1)]

RCODE [CHAR (4)]

 RJKIF_S_REF_ORDER_ADDITION-ISM_RCCVV = TCCRC-RCODE 
0..N0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RJKIF_S_REF_ORDER_ADDITION-WAERK = TCURC-WAERS 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 RJKIF_S_REF_ORDER_ADDITION-KURST = TCURV-KURST 

0..N

1

TJG61

MANDT [CLNT (3)]

IDENT [CHAR (2)]

 RJKIF_S_REF_ORDER_ADDITION-PERFK = TJG61-IDENT 

0..N

1

TJK01

MANDT [CLNT (3)]

FKPER [CHAR (2)]

 RJKIF_S_REF_ORDER_ADDITION-FKPER = TJK01-FKPER 

0..N

1

TJK87

MANDT [CLNT (3)]

BEZUGGRD [CHAR (3)]

 RJKIF_S_REF_ORDER_ADDITION-BEZUGGRD = TJK87-BEZUGGRD 

0..N

0..N

TJKRRC

MANDT [CLNT (3)]

RCODE [CHAR (4)]

 RJKIF_S_REF_ORDER_ADDITION-RCODE = TJKRRC-RCODE 

0..N

1

TJW09

MANDT [CLNT (3)]

WERBTRAEG [CHAR (10)]

 RJKIF_S_REF_ORDER_ADDITION-WERBTRAEG = TJW09-WERBTRAEG 

0..N

0..N

TVCIN

MANDT [CLNT (3)]

CCINS [CHAR (4)]

 RJKIF_S_REF_ORDER_ADDITION-CCINS = TVCIN-CCINS 

0..N

0..N


